

HWK I

Allowed to use:

$$|A \cup B| = |A| + |B| - |A \cap B| \quad \text{--- ①}$$

$$|A \cup B \cup C| = |A| + |B| + |C| - |A \cap B| - |A \cap C| - |B \cap C| + |A \cap B \cap C| \quad \text{--- ②}$$

Find expression for $|A \cup B \cup C \cup D|$ + give proof.

one way (only uses ①!)

$$\text{Let } A \cup B = P \quad \text{and } C \cup D = Q$$

$$\begin{aligned} \text{Then } |A \cup B \cup C \cup D| &= |P \cup Q| \\ &= |P| + |Q| - |P \cap Q| \quad \text{--- by ①} \\ &= |A \cup B| + |C \cup D| - |(A \cup B) \cap (C \cup D)| \\ &= |A| + |B| - |A \cap B| + |C| + |D| - |C \cap D| \\ &\quad - |(A \cap C) \cup (B \cap C) \cup (A \cap D) \cup (B \cap D)| \quad \text{--- by ① twice \& distrib law } \cap \text{ over } \cup \end{aligned}$$

$$\begin{aligned} &= |A| + |B| + |C| + |D| - |A \cap B| - |C \cap D| \\ &\quad - \left(|A \cap C| + |B \cap C| - |A \cap C \cap B \cap C| \right) \quad \text{--- by ①} \\ &= |A| + |B| + |C| + |D| - |A \cap B| - |C \cap D| \\ &\quad - |A \cap (C \cup D)| - |B \cap (C \cup D)| + |A \cap B \cap C| \end{aligned}$$

$$= |A| + |B| + |C| + |D| - |A \cap B| - |C \cap D|$$

$$- |(A \cap C) \cup (A \cap D)| - |(B \cap C) \cup (B \cap D)|$$

$$- |A \cap B \cap (C \cup D)| \quad \dots \text{distributive law}$$

$$= |A| + |B| + |C| + |D| - |A \cap B| - |C \cap D|$$

$$- (|A \cap C| + |A \cap D| - |A \cap C \cap D|)$$

$$- (|B \cap C| + |B \cap D| - |B \cap C \cap D|)$$

$$+ |(A \cap B \cap C) \cup (A \cap B \cap D)| \quad \dots \text{by distributive law}$$

$$= |A| + |B| + |C| + |D| - |A \cap B| - |C \cap D|$$

$$- |A \cap C| - |A \cap D| + |A \cap C \cap D|$$

$$- |B \cap C| - |B \cap D| + |B \cap C \cap D|$$

$$+ (|A \cap B \cap C| + |A \cap B \cap D| - |A \cap B \cap C \cap D|)$$

--- by distributive law again

$$= |A| + |B| + |C| + |D| - |A \cap B| - |A \cap C| - |A \cap D| - |B \cap C| - |B \cap D| - |C \cap D|$$

$$+ |A \cap C \cap D| + |A \cap B \cap D| + |A \cap B \cap C| + |B \cap C \cap D| - |A \cap B \cap C \cap D|$$

Another way ^(uses ① & ②) --- Let $A \cup B \cup C = P$

$$(A \cup B \cup C \cup D) = (P \cup D)$$
$$= |P| + |D| - |P \cap D| \quad \text{--- by ①}$$

$$= |A \cup B \cup C| + |D| - |(A \cup B \cup C) \cap D|$$

$$= |A| + |B| + |C| - |A \cap B| - |A \cap C| - |B \cap C| \quad \text{--- by ②}$$

$$+ |D| - |(A \cap D) \cup (B \cap D) \cup (C \cap D)| \quad \text{--- by distributive law.}$$

$$= |A| + |B| + |C| + |D| - |A \cap B| - |A \cap C| - |B \cap C|$$

$$- \left(|A \cap D| + |B \cap D| + |C \cap D| - |A \cap D \cap B \cap D| \right. \\ \left. - |A \cap D \cap C \cap D| - |B \cap D \cap C \cap D| + |A \cap D \cap B \cap D \cap C \cap D| \right)$$

--- by ②

$$= |A| + |B| + |C| + |D| - |A \cap B| - |A \cap C| - |A \cap D| - |B \cap C| - |B \cap D| \\ - |C \cap D| + |A \cap B \cap C| + |A \cap B \cap D| + |A \cap C \cap D| + |B \cap C \cap D|$$

$$- |A \cap B \cap C \cap D|$$

--- ⊗ again!

Using ① & ② is ^{any} easier way!